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1. Arrange the following substances in dccfeasing
order of their pH -

(I) Human Blood

(II) Black Coffee

(IIT) Human Saliva

(IV) Milk

M @mMm>O>AvV)>d) . & -

(2 (O)> 1D > J1m) > (IV)

(3) (D> () > (IV) > (I)

@ (D> (IV) > 1) > (1)

(5) Question not attempted

- The energy required to completely separate one
mole of a solid ionic compound into its gaseous
constituent ions is called -

(1) Electron gain enthalpy

(2) Phase transition enthalpy

(3) Lattice enthalpy

(4) Bond dissociation enthalpy

(5) Question not attempted

- The strongest nucleophile among the following
halide ions is -

M c° (2 Br®

@) 1© (4) F©

(5) Question not attempted

- Which of the following sets of quantum numbers

is not allowed?

() n=3,1=2, m=42

(@)-n=3.l=0m=0_

(3) n=3,/I=1,m=+2

(4 n=3,/=1,m=+1

(5) Question not attempted

- Consider the following statements and select the

correct option -

Statement I : Mn”* and Fe’* have the same
number of unpaired electrons.

Statement II : Cu* has no unpaired electron.

(1) Both Statements I and II are correct

(2) Statement I is correct but Statement II is

incorrect
(3) Both Statements I and II are incorrect

-

- f=faRag el & S96 pH & Ted FH |

IR HIfTY —

(I) 73 e

(1) PTeil Bt

(D) 77% <R

(Iv) o

(1) (D> @ > (IV) > (M)

" @) (> 1) > (D) > (IV)

(3) (I)> (1) > (IV) > (1)
(4) (D> IV) > > 1D

(8) srgailRa u=A

. TP Hid o/ e e o Sus TN

araedt Al H qoid: gUd wvA @ oy snmaead
ol BT BEd & —

(1) gorasi @fer Tweedt

(2) yTawRIT HHHT TRl

(3) STeT® TR

(4) T= fagoe e

(5) Ig=iRa ge

. fF=fafReg 2omss smai § ¥ udaaH

TS & —
(1 q© (2) Br®
(3) 1© (4) F©

(5) g=IRT U

. gagveq gl w1 FEfaRad § @ e

Y=Y A el o7
(1) n=3,l1=2,m=+42
(2 n=3,1=0,m=0
(B) n=3,I=1,m=+2
@ n=31=1m=+1

(5) SrgRa uZA

. fefoRed ol w® foar difsie @ 98

fdea &1 TaaT Pifog —
® 1: Mn? 3R Fe** # gfina selagial &l
TR HEE Bl B
WH:%u*ﬁaﬁs‘agﬁﬂﬁsﬁﬁaﬁﬂﬁﬁﬁT
|
(1) Fo= 1 9o 9 [ <91 98T &
(2) P [ W81 & g HoA 11 T

- .
(4) Statement I is incorrect and Statement IT is %3} (3) P2 [ 72 P2 1 T e &

correct Wlaf @) $oF [ 7Tea 2 &R HoF 0 98 2
(5) Question not attempted (5) IrgaiRa we
94 - * Page 2 of 40




10.

The strongest acid among the following is -
(1) HNO, (2) HNOs
(3) HC104 (4) H,SO4

(5) Question not attempted

The pair of substituent groups showing +R effect

_is -

(1) —NR; and -NO»
(3) -NHR and -CN

(2) —-NR; and -CN

(4) —NHR and
-NHCOR

(5) Question not attempted

Which of the following is incorrect regarding

stability of carbocation?

@ D
(1) CH, = CH ¥ CH.CH;

()

AC

(4) CH,= CH — CH,

@
> CH,—CH — CH,

(8) Question not attempted

The mechanism involved in the addition of HBr

to propene in the presence of peroxide is -

(1) Electrophilic addition

(2) Nucleophilic substitution

(3) Free radical chain addition

(4) Electrophilic substitution

() Question not attempted

The radioactive isotope which is used to locate

brain tumours and also in the diagnosis and

treatment of disorders of the thyroid gland, is -

7.

L'El.

o N

10.

f=forRaa # A ygeraq art @ —

(1) HNO; (2) HNO3

(3) HCIO;4 (4) H2S04

(5) Irg<IRa e

gfcerdl WHEl &1 g St +R g gifar & —

(1) -NR, TAT-NO>  (2) —-NR, 92T -CN

(3) -NHR @2T-CN  (4) —NHR e
—NHCOR

(5) IR we

BEGERE © RIIa & ey § fFrefafag A

H PITT HET TET 87
@ D
() cH,=CH < CH,CH,

o A

(4) CH,= CH — CH,

(8) IR g

WRiedgs & SURART # WY9 | HBr & 07 §
o fopafafer & — '

(1) goagferft @/

(2) iRl gfcreemus

() I FeT el AT

(4) gerasiRETT ufovems

(5) srgaiRa ues

e geRentie o f aRaws ¥ R @
Ul S I OTRigS U & et @ fem
AT TR & oy W uga ST §, & —

@
> CH,—CH — CH,

(1) 3%2s (2 %5¢Co (=g (2 $%co
@) 13 @) 2Na ®) 131 ) 2Na
(5) Question not attempted (5) xR e
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11. Given below are two statements labeled as 11 55 g7 e Ry 77 €, = a1 (A) 3R

Assertion (A) and Reason (R) - PHRT (R) 3ifpa fopam ar & —

Assertion (A) : In Green Chemistry, mostly AfHe (A) : ERT W # ffepar |veivd
synthetic reactions are carried JIFAFHIT Ty aeay § q—
out in aqueous medium. B B |

Reason (R) : Water has high specific heat and BRT (R) : ST &1 3= faRre o1 dq2r &8

low volatility. rerefierar 8l & |

Choose the correct answer from the given fev v fopeal #§ 9 ?T@f 3TUX hl TIA

options - Iy —

(1) Both (A) and (R) are true but (R) is not (1) T (A) I (R) 6T € NG (R), (A) BT el

correct explanation of (A) AR T8l &

(2) (A) is not true but (R) is true (2) (A)@El 781 © W (R) Wl &

(3) Both (A) and (R) are true and (R) is correct (3) T (A) TR (R) WEI B 3R (R), (A) BT HEI

explanation of (A) s TEHRT B
(4) Both (A) and (R) are not true T (4) T (A) 9T (R) T&T &I &
(5) Question not attempted (5) SF<IRd U=
12. Match Column-I with Column-II and choose the 12 BictH—| ®I BieF—Il | FAferd diforg TG 1
correct option from the code given below - feu v A ¥ ¥ 98! fdeey &1 =34 P — -
Column-I Column-II PicH—I Bl

(A) Metalloid (i) Selenium (A) ST (i) Heifas

(B) Radioactive (i1) Silver (B) Jfearafesa (i) Rream

(C) Transition metal (iii) Arsenic (C) HHAT &g (iii) ITE TR

(D) Chalcogen (iv) Uranium (D) Do (iv) q\%ﬁw

Code - He —

(1) (A)-(), (B)-(iii), (C)-(ii), (D)-(iv) (1) (A)-(), (B)-(iii), (C)-(ii), (D)-(iv)

@) (A)-(0), (B)-(iv), (C)-(id), (D)-(iii) (@) (A)-(i), (B)-(iv), (C)-(ii), (D)-(iii)

() (A)-(iii), (B)-(iv), (C)-(1), (D)-(ii): (3) (A)-(iid), (B)-(iv), (C)-(1), (D)-(ii)

(4) (A)-(iii), (B)-(iv), (C)-(ii), (D)-(1) @) (A)-(iii), (B)-(iv), (C)-(ii), (D)-(1)

(5) Question not attempted o (5) srgRa e

13. The incorrect statement among the followingis -  13. fA=ifeiRad # & o H9F & —
(1) Inductive effect in a molecule requires a (1) 3] § IR yg & Ry dadd ta gd
polar bond only. ATEY Y IEIEAT B
(2) Electromeric eflfec't is shown by ‘the B 6§3ﬂ1€f‘21 = e
compounds containing one or more multiple
bonds. Wﬁﬁ?ﬁ UHE S & |

(3) Inductive effect is a permanent effect (3) RO UM UH IR UNId §, S dhdd

involving only the displacement of electrons. Soded @ fawema @ Hefdd ® |

(4) Electromeric effect is a permanent effect SRR

involving a complete transfer of shared pair e i v e g
of electrons. (T ek = TJ:[ RRITIERYT ¥ WO & |

(5) Question not attempted (8) IR e
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14. The uncertainty in position and velocity of a 14 T Hu & forg Rerfy e 97 & afSfadar
particle are 1072® m and 6.62Xx 1072% ms-! HH 10710 m T 6.62x 10724 ms-! ¥ | i
respectively. The mass of the particle will be - BT T BT — (R & h = 6.62 x 1034 Js)
(Given h = 6.62 x 10734 Js) A e B G
(1) 1.009 kg (2) 0.079 kg R e ik
(3) 0.099 kg (4) 0.089 kg (%) 0.09kg (4) 0.089 kg
(8) Question not attempted (5) srgafd we

15. Period number, group number and number of  15- Z=83 Y TS URHIY] Dl IATdd HE], T8 Gl
unpaired electrons in an atom having Z = 83, are T AT ST B G HH: § —
respectively -

(1) 6.15.3 @ 6.3. 1 (1) 6,15,3 ﬁ (2 6,3,1
(3) 7,9,3 @ 7,3,1 ® 7,93 &3d @731
(5) Question not attempted (5) srgaRa e

16. Which technique is used to purify compounds 18- =g FEeNi® arel VO AfE W S FaUAiG
having high boiling points and decompose below 9 gd faafed & o € @ € I3 & forg
their boiling points? BT THD TIaT BT ST 87
(1) Distillation under reduced pressure (1) ®9 <@ W) I
(2) Simple distillation (2) FmERYT 3THeEH
(3) Fractional distillation (3) gwTSIT 3Ha
(4) Steam distillation (4) w19 3aH
(5) Question not attempted (8) Srg=iRd g

17. The JUPAC name of 17. HC = C- CH, - CH, - CH, — OH &7 IUPAC 4
HC=C-CH,-CH,-CH, - OH is - g —

(1) Pent—4—yn-1-ol (1) Ie—4—3g-1-3ife

(2) 5-Pentyne alcohol (2) 5—U=TE9 Tonlala

(3) 1-Pentynol () 1-U=r=HTd

(4) Pent—1-yn—5—ol (4) Ue—1-3MgF—5—3ifa
~ (8) Question not attempted (5) g=ilRe weo

18 The compound CHz = CH — CHO shows three 18- @1 CH, = CH — CHO & AT AT
resonating structures - T9aT & —

08 10:0 ®0: CH =cH—'(l‘j.—H > ?H,—CH;(?:—QH P :?Hz—CH:E);H
CHZ=CH—g—H > ?H2—8H=(!.—H > :?Hz-CH=CI-H : () ] (B) €
@) (8) ‘ (€
The relative stability of resonating structures is - (M) (©)>B)>(A) @ B)>(C)> (A)
(1 (©)>®B)>(A) (2) B)>(C)>(A)
3) (A)>(C)> (B) @) (A)>(B)>(C) (3) (A)>(C)>(B) 4) (A)>B)>(C)
(5) Question not attempted (5) srgaiiRe wes :
94 - * Page 5 of 40



19. The total number of possible structural isomers 19 C4H;00 MUfd® §F a1l Prfe AD &
of an organic - compound having molecular Tefag EvEaTe THEIal B S & —
formula C4H100 is -

() 5 @ 7 (15 (2) 7
@) 4 @ 6 () 4 @) 6
(5) Question not attempted (8) srgaife e

20. Which of the following statement is incorrect 20 ETFFIoM 3MEY & Hae ¥ ffeiRad A & Il
regarding hydrogen bond? BT HEl 78l 57
(1) It is represented by dotted lines. (1) 39 feger YERl gR1 Wl &= & |
(2) It is maximum in gaseous state. (2) i~ 3raver § g AfIHTH BT B |
(3) It is weaker than covalent bond. (3) Ig WeHdI® 99 DI ol H g ® |
(4) Intramolecular hydrogen bonding is present (4) O-FTEEIBIHT ¥ T3NS BTgSIoT G

in O-nitrophenol. T ST | :
(5) Question not attempted (5) Srg<iRa ue

21. [dentify the artificial sweetener which has 21. fy=foRed ¥ & oW TyFHs o1 gAY S
maximum sweetness value among the A AR A v g
1:'7)11(;:251;)% (2) Saccharin ik B g
(3) Alitame (4) Aspartame ®) wfercs Ay
(5) Question not attempted (8) argaifer W

22. The correct decreasing order of first ionization 22 B, Al, Ga, In @I T1 & WerH 3T Geredl 711

enthalpy values of B, Al, Ga, In and Tl is - DT "edl g3l TE B B —
(1) B>Ga>Al>In>TIl (1) B>Ga>Al>In>TI
(2 B>Al>Ga>In>TIl (2) B>Al>Ga>In>TIl
(3) B>Al>Ga>Tl>In B) B>Al>Ga>Tl>In
(4 B>Tl>Ga>Al>In (4) B>TlI>Ga>Al>In
(5) Question not attempted (5) 3fg=IRT ue

23. The quantum number of four electrons are given ~ 23- IR FeldgHl @I FaveH F&T 1 <1 T8 & —
s . (W)n=3 =0 m=0 m=+2
(A)n=3 [=0 m=0 =k :

1 B)n=4 I=1 my=0_ my=+=
B)n=4 I=1 m=0 m=+; i
©n=4 [=2 m=-2 my=— Eh=aises WSy
On=3 I=2 m=+ m=-1 @)n=3 I=2 m=+l my=—3
Correct order of their increasing energies will ST FHoll Bl GGl gAT Hel $PH BT —
be - (1) (D) <(C) < (B)<(A)
poom g mmooo
(3) (A)< (B) < (C) < (D) wiad @ (A)<®B)<(©)<(D)
@) (A)<(B)<(D)<(C) ) L=l =Dy (6
(5) Question not attempted (5) SrgaiRe o
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24.

25.

26.

27.

Which of the following statements are incorrect?

(A) Dalton’s Atomic Theory does not explain
Law of Gaseous Volume.

(B) First ionisation enthalpy of oxygen is greater
than nitrogen.

(C) Oxygen has the least negative electron gain
enthalpy in group 16.

(D) Nitrogen is more electronegative than
oxygen.

(1) (C) and (D) (2) (A)and (C)

(3) (B) and (D) (4) (B) and (C)

(5) Question not attempted

Which of the following molecule has one

unpaired electron?

(1) Co
(3) NH;

(2 O,
(4) NO

(5) Question not attempted

The value of pKa. of acetic acid and pKy of
NH4OH are 4.76 and 4.75 respectively. What
will be the pH of mOnium acetate solution?

(1) 6.995 (2) 6.990

(3) 7.010 (4) 7.005

24,

25,

26.

I

(5) Question not attempted
Which one of the following is not a structural
isomer of alkenes corresponding to CsHjo?

(1) 3-Methylbut-1—-ene (2) Pent—1-ene

(3) Pent—3—ene (4) Pent—2—ene

(5) Question not attempted

27.

fAfaRed # 9 SN HoF Tad &7

(A) STee ®1 WA gia -0 amaad &
| &1 e T8 FHRa |

(B) 3ITERAIST B WIH MIFT Tl ATgeiord
¥ ¥ Bt B

(C) g 16 ¥ 3ifeiio $I golagia afer
T §aH HH FOHD & |

(D) ISgIoH, e | e faeasroneis
BT B |

(1) (©)vd (D)

(3) (B)wd (D)

(5) srg=iRa g

frfeRad 7 & forw o] 3 v& sRgfivd soag=

BT 87

(2 (A)TE (C)
@ B)wE (O)

(1) Cco (2) O,
(3) NH; 4 NO
(5) SR we

THifed 3 B pKa TAT NHsOH & pKp & HIH
AT 4.76 TRIT 4.75 B | IMINTH G¥ice e
BT pH =T BIIT? ’
(1) 6.995

(3) 7.010

(5) Srg<IRd g
ﬁw%f@aﬁ%aﬁﬂmcsﬂmzﬁwwﬁﬂﬁ
B HEAHAS FHGIT TE 87

(1) 3—femgaee—1-§9 (2 U<—1-39

(3) Te—3-34 (4 Je—2—39

(5) srgaRa ue

(2) 6.990
(4) 7.005
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28.

29,

30.

The decreasing order of stability of free
radicals -

i
L]
CH,= CH, , CH,— CH— CH, , CH,— G+ and C.H,CH, is-
CH,
.
(1) CH—CH=CH, > CH;= G+ > CH,= CH, > GHiCH,
CH,
g .
(2) CH=Ce > CHy—CH —CH, > CH,= CH, > CHCH,
CH,
g
(3) CHCH, > CH,— ce > CHy=CH —CcH, > CH,— O,
CH,
(|3Ha :
(@) o CH, > cHy=CH —CH, > CH— G+ > GHCH,
CH,

(5) Question not attempted

A sphere of radius ‘a’ is made of insulating
material and has charge distributed uniformly
throughout the volume, the charge density is ‘p’.
Find electric field due to charge at a radial
distance ‘r’ from the centre of the sphere for

r<a-
/’_.— ~
/ \
i, ;
p /
-~ ‘-,
MEg=1"2 (2 g3
3gg s
B o __rip 4 g=22
E — ;;; 350

(5) Question not attempted

A nearsighted man can clearly see objects up to
a distance of 1.5m. What is the power of the lens
of the spectacles necessary for the remedy of this
defect?

(1) -0.67D (2) +0.85D

() —-0.85D (4) +0.67D

(5) Question not attempted

N,

28.

29.

30.

o qEw CH,— CH, , CH,—CH— CH, ,
%

CH,— C+ TRIT CH,CH, & w=ifie &1 aedl #4 & —
1
CH

3
: i
L3 - .
(1) CH=CH—CH, > CH,= G+ > CH,= CH, > GH.CH,
CH,
i, .
(2) CH=Ce > CHy—CH —CH, > CH= CH, > GH,CH,
CH,
o
(3) CGHiCH, > CHy= o > CH,—CH —CH, > CH,= CH,
CH,
o
@) CH— CH, > CH,—CH —CH, > CH,~ Ce > GHCH,
CH,

(5) Sr<IRa we

a1 a &1 U@ e gaes et § i 2
TqAT 50D HYUT AT H Y (HEIH ©9 |
faaRa 8, S1der 99 p 8 | MY & BRYT el
ﬁiﬁi’ﬁw?ﬂfrq‘?r<a$mﬁ%

&3 S PN —
/'_— -
4 \
! 2 \
I T 1
\ /
A /
\“__;
M E=12 (@ g3
3gg £
) p_re 4 g=20

3gp

(8) IrgalRa wed
e gfelm aren =fad 1.5 #iex 9 8 T
B I3 BT W B A W WHaT & | 39 a9
P SUAR $ oY AP I P ofd P Ao
T 8?7

(1) —0.67D
(3) -0.85D

(2) +0.85D
(4) +0.67D

(5) 3rgaRa ueA

94
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31.

32,

33.

A convex mirror has its radius of curvature
20cm. A point object is placed at a distance of
12cm from the mirror. Then which of the
following is true regarding the nature and
position of image?

(1) A virtual image is formed on the left side of
the mirror at a distance of 60/11cm from the
mirror.

(2) A real image is formed on the right side of

the mirror at a distance of 60/11cm from the

mirror.

A virtual image is formed on the right side of

the mirror at a distance of 60/11cm from the

mirror.

3)

(4) A real image is formed on the left side of the

mirror at a distance of 60/11cm from the
mirror.
(5) Question not attempted

A bird flies in north with velocity 15ms~! for
15sec, it rests for 25sec and then flies in south
with velocity 20ms™" for 10sec. For the whole
trip magnitude of average velocity (in ms™) is -
(1 05 () 1

(3) 2 @ 5 a8

(3) Question not attempted

A double convex lens has faces of radii 18cm and
20cm. When an object is 24cm from the lens, a
real image is formed at 32cm from the lens. What
is the refractive index of the material of lens?
(1 1.5 (2 1.7

() 1.3 4) 1.9

(5) Question not attempted

31.

32.

33.

T ST JUUT B Il AT 20cm | TH
fa=g a%g <91 9 12cm R v €| ufdfam @
vopfa vd Refd & ar 7 fFmfolad 3§ § s
el &7

(1) <Y1 & 9I¢ ured H TUOT | 60/11cm g W
Ud FHIad gfafds aar 2|

(2) gUor & <R ured F U | 60/11cm A
W V% grafds fafds gear 2

(3) <Uor & <Ife ured F YO ¥ 60/11cm R
TR Udh HIead gfafds a=ar 2 |

(4) =T &A1Y urRd # YT F 60/11cm T W
TP arfde wfafsg a9ar 2 |

(8) argaRa ueA

TP el IR A9 § 15ms™' B AT | 15sec &

fory Sear &, fBR 25sec &1 fasma oxar @ qen

IHG 915 <feor e 7 20ms~! & 9T ¥ 10sec

% forg Sear 21 oft I & SRE i 9T @

gRATT (ms™ #H) & —

(1) 0.5

(3) 2

(5) rgIRa wes

% fg—Sad o\ @& gsf @ Bou] 18cm @

20cm €| 94 TP ¥ oW § 24cm W B,

SHGT U Irkifad gfafda o & 32cm o) g99a1

2| o & el &7 uad-ie @ 87

) 1
@ 5

(M 1.5 @ 1.7
) 1.3 4 1.9
(5) argaRa wed

94 _ 3
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34.

35.

36.

37.

Power supplied to a particle of mass 2kg varies

; 5 3t2 i
with time as P = T Watt. Here t is in seconds.

If the particle starts from rest at t=0, its speed at
t=2s will be -

(1) 2v/2m/s (2) 4m/s

() 2m/s (4) 1m/s

(5) Question not attempted

A uniform magnetic field B exists in a direction
perpendicular to the plane of a square frame
made of copper wire. The wire has a diameter of
2mm and a total length of 40cm. The magnetic
field changes with time at a steady rate 0.02T/s.
If the resistance of wire is 2x10-2Q, then induced
current in the frame will be -

(1) 0.05A () 0.1A

(3) 0.2A (4) 0.005A

(5) Question not attempted

LetA = '1'+2]‘+Rand§= 2i+j-k Let C be
a vector in the plane containing A and B and be
perpendicular to A. Which of the following can

be a unit vector in direction of C?
i B S X = s
) 75 (- 2K) @ 5(0-7-K)
10 e e
@ (-1+k) @ (-1+7-k)
(5) Question not attempted

An object is moving in a straight line with a
linear momentum p. At time t=0 a time
dependent force F=at starts acting on the object
in the direction of motion of the object for a time
interval T so as to change its linear momentum
from p to 3p. Here o is a constant. The value of
T is given by -

(1) \/E () 5 [p
a a
(3) Value of the mass of (4) [3p
the object is needed «
to answer this
question.

(5) Question not attempted

34.

35.

36.

@5 (-1+K)

2kg SEEM & TS HUT Bl AYferd Al THA
a%warP:S—;zamzﬁaaﬂﬁamﬁ%laﬁ
t 9be ¥ | AT F =0 W O™ | u=H
Pl 2, AT t=2s W SFB! el 8RfY —

M) 2v2m/s (2) 4m/s
(3) 2m/s (4) 1m/s
(5) SR T¥

g4 @ IR ¥ 99 Uh TNHR BH B ad H
araq fem # veadE gRe & B fagaH
2| 9R @I &Y 2mm TAT Bl TS 40cm 2 |
I B AT gEaE &3 0.02T/s B R =)
¥ uRafda gar 21 aft aR &1 gfiky 2x10°Q
g, o ww # uRa uwr EFft —

(1) 0.05A (2 0.1A
(3) 0.2A (4) 0.005A
(5) IR U

o A=1+2j+k qar B=21+j-k &
AT C Ue G & ST A 9 B &1 fAfkd &=
qrel a1 § © JUT A @ oiaaq & | e #
} B C ) Ram § taie 9y & woar
&2

) = (1 - 2K) @ z({-1-K)
@ 5 (-i+5-FK)

(5) argaiRa U

TP TG TP AR Y@l W - G p ¥

TEE 8| 999 t=0 W T W F9ar=d T
o fog saat iy @ foen 4 e 9wy enfda
g& F=ot T URY €l 8 Al 9% &1 X
HAT p ¥ gRafia grex 3p 8 WY | I8 b
foradie 81 T &1 99 39 YoR a1 Sar g —

Q) Jg @
04 o

(3) 39 U BT ITN 2 (4) 2
5 fou o) @ o
STAE BT g

TP 2 |

(5) 3rg<IRa g

94
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38. A hollow cylinder has charge q within it at its 38 U @rad Yo & gD P TR AL q 2|

centre. If ¢ is the electric flux associated with the IfY 9% Hag B ¥ Hag ﬁ‘egﬁ FART ¢ ®,
curved surface B, the flux linked with the plane T T8 A § HaE Yo 2N —
surface A will be - 5
B
D D
L L. g
m3(2-9) @3(2-9) m3(5-4) @3(%-9)
q . ¢
(3 5o @) g 3) 5 @3
(5) Question not attempted (5) srgaiRa we
39: The resistivity (in Q-m) of a conductor in which ~ 39- o} TTeTe H, 99 9 W 15V/m &7 faega e=
a current density of 2.5A/m? is found to exist ST ST 8, 2.5A/m? $T 9RT ¥5ed 9T ST
when an electric field of 15V/m is applied to it, 2| o B IRRMET (Q-m HE -
is -
(1) 3.00 @ 3.75 (1) 3.00 (2) 3.75
(3) 1.67 (4) 6.00 () 1.67 (4) 6.00
(5) Question not attempted (5) 3rgaiRa we=

40- Two identical charged metal spheres A and B 40. <7 w9wT SR e A @1 B 59 W |9H
having equal charge repel each other with a force AT B, Th T B F 91 ¥ URaiig ova

F. Another identical uncharged sphen? C ‘is | 37 THHY MR M C T A ¥ Fah
touched to A and then plac:f:d at the rrudpmpt FX A TAT B S 7o g W @ §| O e
between A and B. The magnitude of net electric R 3 W
force on C is - faga 3@ @1 i
(1) 2F (2 F (1) 2F 2 F
(3) Zero (4) F @) T (@) -g

‘ 2
(5) Question not attempted (5) srgaiRa w1

41. In the overhead view of figure, a 200g ball with 41 15 & Hud 399 4 UF 200g BT 7T 9.0m/s B

speed 9.0m/s strikes a wall at an angle of 60° and AV TF SR TR 60° BT § THIPBY T
rebound with the same speed and angle. The

magnitude of impulse on the ball from the wall A T BT ufiere et 8| dar @ &N
is — € TR T I BT IR & —
V
y —p \
\o ﬁ;;j \Q\ o
S 0=60°| vh b 1
d| | St
Z|E |
7N ::«:: -7 =60°
/1' 9=60° ';’. o/ 0=60
o7 5 5
(1) 1.8IN-s -~ (2) 3.6IN-s
(3) 4.5IN-s (4) 3.1IN-s ; &
(5) Question not attempted () srgaRa e
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42,

43.

44,

In the given figure, the tension in rope BC in
equilibrium is -

(Where M=4kg and take g=10m/s?)

/M
(1) 20N (2) 40N

@) 40v2N @) 202N
(5) Question not attempted

The figures show four arrangements of three
particles of equal masses. Rank the arrangement
according to magnitude of the net gravitational
force on the particle labelled as m, taking the

greatest first -

(1) (a)>(b)>(c)>(d) (@ (a)>(c)>(b)>(d)
() (a)>(b)=(d)>(c) @ (b)>(c)>(a)>(d)
(5) Question not attempted

The potential energy of a conservative system is
given by —

Ux)=(x*-3x)7J

Then its equilibrium position is at -

(2) 1.0m

(4) 0.5m

(1) 1.5m
(3) 2.5m

(5) Question not attempted

42,

43.

44,

feg v = ¥, = BC # Wge & s §
GRIEEE

[

(Sref M=4kg T2 g=10m/s> )

(1) 20N (2) 40N

@) 402N 4) 20v2N

(5) arg=iRa wed

i ¥ W geEE @ 9N ol @ AR

R ATE TS € | m gNT Rifed &1 W) g
TOAGYT a1 & TRAT & JTAR FeelaH Pl

U8l o §Y FART Bl HiAd BIfTY —
it Lk el
o D
T 4 d
m m
(© _ d. D i (d) ™ D .
m ld

(1) (@)>@®)>()> @) (2 (a)>(c)>(b)>(d)
(3) (a)>(b)=(d)>(c) @) (b)>(c)>(a)>(d)
(5) srgaIRa g%

T wvell e & fog Refos Sol & S
£ =

Ux) = (x2—3x) J

T4 g arrawen Refd & —

M 1.5m W (2) 1.0m ™
() 25m W (4) 0.5m W
(5) SrgaRa U

94
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45'IfK=2T+3j‘ and B=1+47], then vector 45‘H%K=2T+3iﬁmﬁ=i+i,ﬁxiﬂ§aﬁ
component of A in the direction of B is - e # afdwr g & —
() ZE+9) @ 2@+ (1) 5G+D @ 2@+
(3) = (21 + 3)) (4) % (20+ 3)) (3) > (21 +3)) (@) 5 (21 +3))
(5) Question not attempted (5) arguRa W=
46. A charged particle moves along a circular path ~ 46- T& AR o1 ¥ TSR v W A 2,
under the action of possible constant electric and fora w wwifaa Frad fagga ok g a3
magnetic fields. Which of the following option &1 y9E ® | FrafaRed § 9§ ai9ar e g
is possible? 27
(1) E#0, B=0 (2) E#0, B#0 (1) E#0, B=0 (2) E#0, B#0
(3) E=0, B=0 (4) E=0, B#0 (3) E=0, B=0 (4) E=0, B0
() Question not attempted (5) 3gaiRe weA
47. Four identical spring scales A, B, C and D are  47- IR |a@9 T W A, B, C G2 D 220N &
used to hang a 220N block (Figure). Suppose that UF «ifd Bl dchM | SUINT 3l it & (=) |
each scale has a weight of 5N. If scales B and D {1 Uhd dell BT MR SN & | 3 g B don
show the same reading, then what is the reading D 949 Uigdid S9il §, d YA®d qeuT B
of each spring scale? qIediH T 27
(1) (A)=105N, (B)=110N, (C)—105N, (1) (A)—105N, (B)—110N, (C)—105N,
(D)—110N (D)—110N
(2) (A)-110N, (B)—110N, (C)—110N, u:ﬁ (2) (A)=110N, (B)—110N, (C)—>110N,
(D)—>110N (D)—110N
(3) (A)—>105N, (B)—105N, (C)—105N, (3) (A)=105N, (B)—=105N, (C)—105N,
(D)—105N (D)—=105N
() (A)—>115N, (B)-110N, (C)-115N, (4 (A)—>115N, (B)=110N, (C)—115N,
(D)—110N (D)—>110N
(5) Question not attempted (5) srgaiRa g
94 - 3% Page 13 of 40




48,

A electromagnetic radiation of frequency f,
wavelength A travelling with velocity v in air
enters a glass slab of refractive index n. The
frequency, wavelength and velocity of radiation
in the glass slab will be respectively -

1) {— -ﬁ-and;‘s (2 E Aand;"

3)f, %andf @) f, % and v

(5) Question not attempted

48.

f amgfy, A TRl 91 g fAgageag fafexo
&1 H v AT ¥ TRT SR §Y n UGS DT UD
B B gfieeH ¥ yIw P B HE B
ufeedt # fafd=or @t amgfy, dmesd wa@ 9
AT B —

£ v f v
(1);, 5 5191";1' (2);, lﬁ‘x’l!;
A v

(3) f, = TR

(5) SrgaiRa U

@) f %aenv

49. A block of mass m starts moving so that its 49- m TFIM & (d @id §9 ISR A HAT
velocity varies according to the law v = av/s YR FRal & b BT O 7\ v = avs &
where a is constant and s is distance covered. The AR IRafcd idr & STel a Fdie o s o
total work performed by all the forces acting on BT W & | A URM M D U¥ER| U8l
the block during the first t seconds after the t UpUS H il IR HRING G4T 9ol @ g1 fhar
beginning of motion is - T HA P © — |
(1) g ma’t? (2)  matt? (1) 2mat? 2 tmatt?.

(3) 7 ma?t? (4)  ma*t? (3) ; ma’t? (4) s ma‘t?
(5) Question not attempted (5) sriRa ueA

50. Two balls A and B are placed at the top of a  50- ST 91X A T B 280m SdE & (& R &
280m tall tower. Ball A is released from rest Brar e @ 21 e A dTt=0R® B &
from the top at t = 0. The ball B is thrown R & g fbar o &1 A B# t=2s W
vertically down with an initial velocity u at URAE T u § SEER T ST o 2| T
t = 2s. After a certain time both balls jare at ZOPm a7 9y W AT 7 eREe & 200m A
above the ground. The value of u (in m/s) is - : ; :
(Take g = 10m/s?) WRE|u BT (m/s H) A & — (g=10m/s> o)
1) 35 2 30 (1) 35 (2 30
(3 5 4) 15 @ 5 @ 15
(5) Question not attempted (8) srgaRa o

51. Consider a planet in some solar system which 51- &=y &R @ ¥ 1o 78 ®R fIar & e
has a mass double the mass of Earth and density THE qazﬁ D SIHE BT Sl AT G IR R
equal to the average density of Earth. What is the gedt @ AR T D e 2 | 39 UE 9 9ag
weight of an object at the surface of this planet if w® Rre T BT HR I 2N R = o] B
this object has a weight W on the surface of
i) gl P HIg W IR W 27
(1) 213w @ 2w ) 28w @ 2w
(3) W2 (4) 2W (3) w/2 (4) 2w
(5) Question not attempted (8) srgaRa weT
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52. The gravitational acceleration on the Earth’s 52- Ged] &1 ¥dg W To@ @RV g’ & | ol &
surface is ‘g’. The two distances from the centre e oY gRai, et ToER @ROT By 3
of the Earth where gravitational acceleration is oA g
E , are (R-Radius of the Earth) — B T B :
R 2
(2 and V3R @2 and (V3 - 1)R {1y SEL R Bz TG )R
2R : R
3) ? and V3R (4 g and (\/§ ot 1)R (3) ?a‘\’ﬂﬁR (4) > R (\/§ - 1)R
(5) Question not attempted (5) SrgTRd we
53. A satellite is revolving in a circular orbit at a  53. Ueb SUUE Yedl &I Wi ¥ SAs h [h<<R (Yl
height ‘h’ from the Earth’s surface [h<<R (radius o1 )] W U gAIGR FHeT H FahR T &
oflEE}Hh)]. Tl;e Irfitnimum irffcreasethin g:ll?ti}:al 2| T oy 3 T\T“ﬁu g5 J TORE a B
velocity, so that it escape from the ’s 3
gravitational field, is close to (Neglect effect of ﬁw =4 ﬂ'JT N i gk § 3
atmosphere) - EaliL Eibe
2
2
®) J/gR @ (VZ-1)/eR @ /&R @ (v2-1)/eR
(5) Question not attempted (5) IR ueA
54. Two identical blocks of weight W each are 54 QI Hd¥H <ild, YD BT TR W 8, B TP B
placed one top of the other as shown in figure. SR GO XM 8, ST b = # <o @ g
The upper block is tied to the wall. The lower SR Gl &b SR ¥ 947 & | el <die o
block is pulled to the right with a force F. The 9e1 F gRT qIfesi 3R Wiar orar & | 9 |ufed
coefficient of friction between all surfaces in |asl @ 7e gyl NG B | 98 AWHaH 9o
contact is L. What is the largest force F that can F @1 & o 5 e <ife & faaar s
be applied before the lower block starts to slip? S W g T S AhaT 87
W W
w w
2PINIVIIIIININI7P77 TITIIIITIIITTTTITT77
(1) 2uw (@) 3uw i (1) 2uw (2) 3uw
-2
(3) 3—'12! @) pw !:k”-l' ' (3) % (4) yw
(5) Question not attempted (5) IrgaiRa wes
95. The velocity of a 800g object changes from  55- 800g @1 & &g & T V; = 31— 4j m/s |
vV, = 31— 4 m/s toV, = (—6f + 2]) m/s. What G ¥, = (—61+2)) m/s BT B THD!
is the change in its kinetic energy? fast ot § gRady T 27
(1) 3.2) () 7.6 (1) 321 2 7.6]
(3) 61 (4) 9.21 (3) 6J (4) 9.21
(5) Question not attempted (5) IrgiRa ge=
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56. 1ot A+B=C, if B is reversed, then the °° HFT A+B = C,df? B &I Sohiad (Ru) ax

resultant becomes D. Which of the following is fear omar 2, @ uRuml D & war 2
correct? ferfalaa 5 & ®iar 981 87
(1) C+D=2(A+B) (2 C*+D’=A’+B’ (1) C+D=2(A+B) (2) C?+D?’=A%+B?
(3) C2+D?=2(A%+B? (4 C2-D?*=2(A%-B? (3) C*+D?*=2(A%+B?) 4 C2-D?*=2(A%-B?
(5) Question not attempted (5) a’aﬂﬁa g
57. Match Column-I with Column-II and select the 57 ®fer—1 &1 Biew—I1 ¥ FAferd PR A= Y
correct option using the code given below - T §HE B WSl 9 Wel fdbed &1 T
Column-I ! PN —
(A) Helicase CaGLE|
(B) DNA dependent DNA polymerase (A) Bferst
(C) DNA Ligase (B) IITA.Y. WX R Sigeu. gl
(D) DNA dependent RNA polymerase (C) STAL. A
ColnicTE (D) $1TAY. TR PR JRTAY. Ul
(i) Joining of DNA fragments P11 ;
(ii) Polymerisation of deoxynucleotides (@) @.Qir.@ QIS BT ST
(iii) Transcription (i) @mﬂﬁﬂtﬂm ) El'g?-ﬂ?ﬂ'ﬂT
(iv) Unwinding of DNA helix () m
e (iv) $1.UA.Y. =fcrad &1 grea
mc\e s

) (A)-Gv), (B)-(ii), (C)-(i), (D)-(iii)
@) (A)-(iv), (B)-(i), (C)-(ii), (D)-(iii)
(3) (A)-(v), (B)-(ii), (C)-(iii), (D)-(i)

(1) (A)-(iv), (B)-(id), (C)-(i), (D)-(iii)
i @) (A)-(Gv), (B)-(1), (O)-(i), (D)-(iii)
: () (A)-(iv), B)-(ii), (C)-(iii), (D)-(i)

@) (A)-Gi), (B)-(iii), (C)-(i), (D)-(iv) @ (A)-(ii), (B)-(iii), (C)-(i), (D)~(iv)
(5) Question not attempted (5) arg<IRd we

58. Select the incorrect statement in reference to 98- WSSOI & HeH # Tod HAT BT AIT
phytoplasma - S =

(1) They are double membrane bound

(1) 3 S fBreeh oo aged VTN Bl B |
(2) They often contain plasmid and require (2) T AR @IS BT § AR F TR

sterols. _ P JMATTHAT BT © |

(3) They are insensitive to tetracycline. (3) 3 oS & WRY ardeeee B ¥

(4) The G + C content is less as compared to

pleomorphic structures.

(4 A+Tdwd @ 9N G+ C o<d &9 8d & |
A + T content.

(5) Question not attempted (5) SrgaiRe W
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59. Mother and father of a person with “O” blood
group have “A” and “B” blood group
respectively. What would be the genotype of the
mother and father?

(1) Both mother and father are homozygous for
“A” and “B” blood group respectively

(2) Both mother and father are heterozygous for
“A” and “B” blood group respectively

(3) Mother is heterozygous for “A” blood group
and father is homozygous for “B” blood
group

(4) Mother is homozygous for “A” blood group

and father is heterozygous for “B” blood

group
(5) Question not attempted
60. The polymorphic nature of DNA fingerprints
arises mainly due to -
(1) Differences in promoter sequences
(2) Variation in tandem repeat numbers
(3) Mutations in rRNA genes
(4) Differences in coding sequences
(5) Question not attempted
61. Which of the fungi genera is not responsible for

common infectious disease Ringworm in
humans?

(1) Trichophyton (2) Microsporum

(3) Tricholoma (4) Epidermophyton

(5) Question not attempted

62. In the Electron Transport System of the inner

mitochondrial membrane, iron-sulfur proteins

are electron carriers of mitochondria containing

iron and sulfur in equal amounts. The iron - |

(1) is irreversibly oxidised during the electron
transfer.

(2) is reversibly oxidised during the electron
transfer. :

(3) transfers four electrons at a time.

(4) is irreversibly reduced during the electron
transfer.

(5) Question not attempted

59. «O” vqd |g arel Afda & AT 9 a1 &
HHE HH: “A” T “B” €| War @ far @
SRy T 8RTT?

(1) =7 9 faar §FF “A” 9 “B” ¥ad UHE @
forg e wHgTSl §

(2) srr 9 fiar 9Ff “A” 9 “B” ¥ad 98 @
forq swer: fawgmeh

(3) T “A” e e & fou fwagTel 9 fan
“B” Xad W B foIq wHYTHSN &

(4) AT “A” T @ @ forg wugwel 9 fUar
“B” el AE @ forg fawagmoh @

(5) srgRd ueA

60. Sy fPRfic &1 agsdl yofa g&1 wu 4

I Bl © —

(1) yHIeR IgHHl 3 AR B HRU

(2) 3TIHA GRIgRT weEAmi | T @& SR
(3) rRNA S ¥ S@Radd @ &R

(@) ST A F R & FROT

(5) SrgeiRd we
61. wysgt # B9 aTel T WshMS IR Rrad & forg
@Il $ad 9 REeR e 8?
E%mmmﬁ (2) ArEPRERA
(3) grs@IAE (4) ufrsHiwged
(5) srg<iRa ueH

62. 3iidR® AgCIDi~gdd f3eell & Feiae URag
T § IMRA—9ew U HARcIdigdl &
TOaE aEd B &, R omaRd ek wewR
THEE AT H B © | AR —

(1) Sl RIFIORY & SR SShAvI W
¥ ffefipd g 2|

(2) Solge™ RIHIARYT & ERM SShAvIT ®Y J
3ffedigd BT & | '

(3) T IR ¥ IR Sl WAFIART PRl & |

(4) SAFEH WIMARY & SR TehaAvig wY
 oafdd BT &1

(5) Irg<iRa we
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63.

64.

Select the correct statement in reference to

K-selection -

(1) In this type of selection, rapid population
growth takes place.r

(2) Life span is relatively short in K-selection.

(3) It occurs in fairly constant or relatively
narrow climatic change.

(4) 1t is density independent.

(5) Question not attempted

Match the Type of Gum given in Column-I with

their Source in Column-II and select the correct

answer using the code given below -

Column-I Column-II

(Type of Gum) (Source)
(A) Katira gum (i) Boswellia serrata
(B) Salar gum (i1) Moringa oleifera
(C) Kumquat gum  (iii) Astragalus gummifer
(D) Sahjan gum (iv) Fortunella spp.

(v) Commiphora wightii

Code -

M (A)-(i), B)-(v), (C)-(i), (D)-(iii)
@) (A)-(iv), (B)-(v), (C)-(ii), (D)-(i)
() (A)-(v), (B)-(iv), (C)-(iii), (D)-(ii)
(4) (A)-(iii), (B)-(D), (C)-(iv), (D)-(ii)

63.

64.

K—999 & §e¥ ¥ Ha ST &1 93 PIVY —

(1) 59 bR & 9549 ¥ g 6 gig e
gl

(2) K—= # Sfiaarer aendd BicT 8T 2 |

(3) I8 T &€ d@ ReR I IuedHa Faol
Sierary uRac ¥ g & |

(4) I8 T A B |

(5) 3rg<IRa g

Hiee-1 ¥ Ry M7 7T & YR &1 Biem—114

fay T S Wia ¥ gAferd R A Ry @

B FERIT W T IR BT T BIAY —
Bier—1 BieH—II
(fife 1 ¥PR) (&)
(A) BRI T (i) Freraicrar T
(B) TR i (ii) FITT SilchiBer
(C) Fuaare e (iii) TeTIerg THBY
(D) \EeH TS (iv) Preg-er vadid;
(v) PIABRT TIZCT
T —

(1) (A)-(ii), (B)-(v), (C)-(1), (D)-(iii)
(@) (A)-(iv), (B)-(v), (O)-(ii), (D)-(1)
@) (A)-(v), (B)-(iv), (C)-(iii), (D)-(ii)
@) (A)-(iii), (B)-(i), (C)-(iv), (D)-(ii)

(5) Question not attempted (5) Sr<IRa g

65. Which of the following technique is not used 65 vav. FBRARCT & IRE F=faRag # 4
during DNA fingerprinting? & daite ST SYANT F&1 fhar AT 57
(1) Southern blotting (2) Western blotting (1) |e+ =difeT () g =T
(3) PCR (4) Gel electrophoresis (3) 3R (4) r,‘]’a' SFS BRI
(5) Question not attempted (5) 3T ueA
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66.

The successful establishment of a species in a
new area (in process of ecological succession) is
called -

(1) Ecotype (2) Ecesis

(3) Epipedon (4) Ecad

(5) Question not attempted

66.

TF S BT A% ST R Ahaad I
[@RRefde ogmpa @ ufbar & <RM)
FHEAT & —

(1) $orerRy (TRywy) (2 BRm

(3) gfiusH 4) s

(5) 3rgailRa ueA

67. Statins, blood cholesterol-lowering agents, can ~ 67. e+, a0 PloRSid HH HRA dldl oic, &I
be produced by - i IdTEA fhar S a8 —
(1) Trichoderma polysporum E‘:ﬁf () zrs@isdr gichwrg
(2) Monascus purpureus (2) #Fr7eET TegRTY
(3) Saccharomyces cerevisiae () Haviarslig wfaH
(4) Penicillium notatum ) 9fafferag Ficew
(5) Question not attempted (5) 3rgRa ueA _
68. Which of the following is not an example of a 8. f=feiRad § & &9 U<l TP BT SSEIY
Pentose sugar? 8l 87
(1) Ribulose (2) Erythrose (1) Ryadra (2) TReirs
(3) Xylulose (4) Arabinose (3) GTEQFI‘I’\H (4) aRferT
(5) Question not attempted (5) IrgaifRe weA
69. Saccharomyces cerevisiae is not used in the 69 HHvFEw VAW &1 ST s STEH
production of - H 781 fpar mar 87
(1) Beer and wine (2) Bread (1) R 3R a7 2 s
(3) Ethanol (4) Antibiotics (3) gIHTA (4) vEEmfead
(5) Question not attempted (5) SrgaiRa weA :
-70. Consider the following statements and choose 70- fo=feiRag woMi W AR @Sy g @@
the correct option - fadog &1 Tgs PIfY —
Statement I : Convergent evolutio-n is w}?en. o 12 519 TP | AP e fafeeT T
more than one adaptive radiation - _
occurs independently in the same ¥, T & I s J gae g
geographical area. g, O 30 AWMER) Sfgd™ FEr S
Statement II : Darwin’s finches represent the =4
fﬁ;r;zr;l:non of adaptive o I : S 3 5= ST ffeor 99
(1) Statement I is correct and Statement II is 1 HERIT PX &
ficorrect (1) S 1 99 9 U4 11 3T &
(2) Both statements are correct (2) e o9 9 &
(3) Statement I is incorrect and Statement II is @) BT | 39 T U 1 97 &
correct : '
(4) Both statements are incorrect () <Ml P ST €
(5) Question not attempted (5) g e
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72.

73.

74.

El Nifio events are typically not associated

with -

(1) Global warming

(2) Enhanced upwelling along the coast of Peru

(3) Suppressed convection over the Central
Pacific Ocean

(4) Disruption of normal weather patterns across

(5) Question not attempted R E

continents

Select the incorrect statement in re erence to the

genetically modified crops -

(1) Bar/pat genes from Streptomyces provide

resistance  in
modified crops.

(2) The Flavr Savr tomato is not an RNAi-based
genetically modified crop.

(3) In Bt crops, plant-specific promoters
(e.g. CaMV 35S) are added for constitutive
expression.

glufosinate genetically

(4) In Golden Rice, three genes were introduced
to reconstruct the B-carotene biosynthesis
pathway in rice embryo.

(5) Question not attempted

Glycerol is a -

(1) Trihydroxy butane (2) Trihydroxy propane
(3) Dihydroxy butane (4) Dihydroxy propane
(5) Question not attempted

Select the wrong match in between Interspecific
interaction of population, Species A and

Species B from the following -

Interspecific Species A Species B
interaction

(1) Commensalism + 0

(2) Competition - -

(3) Mutualism + -

(4) Parasitism A &

(5) Question not attempted

71.

72.

73.

74.

3rel T HeAN JMAR TR T8l ISl 8l & —

(1) aea affFT |

(2 % @ dc W 9¢ §Y SUM (Juafein) |

(@) 7eg yId WERITR W HefHd  Hdgd
(FwaaR) &

(4) wEIg™l § 9y JE Yed § EauE |

(5) srgaRa we

IMARIE ®Y | FURT BHdl B G&H J Teld

FHUF BT IIT BN —

(1) ey a d 98 /YT S, ITaRke
U ¥ WUARd BEal H  T@INee
FReRESAT U R ¢ |

(2) TR WX THICY  IIRUATINS—3MERd
RIS ®U | wUdRG HE T8l © |

@) & wHal # ueu-fafe  THRR
(SH9, HIQUAAr 35T9) & Agcd Afaafda
& faw Srer S 2 |

@) wiess BE H TEA B YT A B-dRICH
SITHTNOT U & gAfAr & forg i oA
FAERE Py 17 o |

(8) rgaRa e

Rererial & U@ —

(1) gréErsia @ee (2) grEmEsiae M

(3) srsEESR e (4) SEEESEd A

(5) Srg<iRa g

fr1 & ¥ wHfte @1 AR (interspecific)

r=afsha, SR o1 Td Wil § & e Terd Al

1 g1y —

NI oTfer &t ofa
ST
(1) geaiferar ¥ 0
(2) ufeemef = -
(3) gyrR=R&ar + e
(4) g=oIfaar - 2

(5) arg<iRa A

94 . 3%
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75. In Phenotypic females having XO genotype, the 75 ®MeEfie ARG 4 XO SiHIREY 8idl %\‘
anomalies are called - I et @) oar oiaT & —
(1) Turner syndrome (2) XYY syndrome ; .
4 a g (1) TR RIS @ XYY Rigm
(3) Down syndrome  (4) Klinefelter e _ :
=T (3) Trea RigH (4) FemsTmoey RigH
syndrome ‘
A () Question not attempted (5) SrgaRa w2
76. Neo-Lamarckism fails to prove which of the 76. qg—cmdag FfeiRad # o &9 &9 &l
following statements? g oo ¥ fAva e 7
(1) Germ cells are not affected b k- i
. . (1) S99 PIVGN TR SRS d A
the  environmental factors  directly '
(Tower’s experiment). CIERISH gs'?ﬁ € (SfaR &1 y3m) |
(2) Germ cells may carry acquired or (2) S PRGN Hamr ¥ sfofd a1 &1l
somatic  variations to the offspring T o o e § (FRES &1 v |
(Harrison’s experiment). ' . L i
(3) Somatic characters are the result of the ®) ] ara
interaction between genes and the AT BT YR € |
enviropment. @) o PRSI wafareiy oRead=i & yarfad
(4) Germ cells are influenced by environmental o ¥
changes.
(5) Question not attempted (5) SrFeiRe o
77. According to the Noise  Pollution 77- eafsy ygmvr (fafsmm= &iR fmzon) f=m 2000 &
(Regulation and Control) Rules 2000, the IR, 9 & 999 IO &3 @ fov IR &
Ambient Air Quality Standards in respect of g argst AT U W dB(A) Leq e
noise for residential area in daytime limits in 33 ‘
dB(A) Leq is - :
: (1 50 (2) 75
(1 50 (2) 75
@) 55 @) 65 (3) 55 (4) 65
(5) Question not attempted (8) SrFeRa w=d
78. The chromosomal formula for tetrasomic 78 CgMIfeG @fdadl & fog ToRER ¥ & —
SCRIC s M Zas2-d20. FFon oo
(M 2n+2-1-1 (2) 2n-2+2
(3) 2n+2 4) 2n+1+1
() 2n+2 4 2n+1+1
5 ‘eﬂﬂﬂ[ﬁa
(5) Question not attempted o e
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79. Consider the given Assertion (A) and Reason (R)
statements and select the correct answer using
the code given below -

Assertion (A) : Autogenic succession involves
~ changes driven by the biotic
components of the community
itself.
Reason (R) : Species modify their own
environment in ways that promote

79. oy Y f¥eber (A) Td BRU (R) R AR
R e AU B @ TR | 9E SR @
TIF BT —

INHAA (A) : WA AP H T TR
3 uifdd GcHl gRT Harfea
gRaaw aftaferd g & | ‘

PR (R) : USTIfrT 370 W & GATaRoT &l 34

UHR ®UGdRd dxdr & fb T8

colonization by new species. :-t‘: goTiferRIt g Fagves diearfed & |
Code - ST @ - . _
(1) Both (A) and (R) are true but (R) is not the (1) (A) 3R (R) i W g f&g R), (A) &1
el WGV T8l &

correct explanation of (A)

(2) Both (A) and (R) are false

(3) Both (A) and (R) are true and (R) is the
correct explahation of (A)

(4) (A) is true but (R) is false

(5) Question not attempted

80. In gram-negative bacteria, the peptidoglycan

cross-link is formed by a peptide bond between -

(1) the amino group of Diaminopimelic acid
(DAP) and the carboxyl group of d-alanine

(2) the carboxyl group of Diaminopimelic acid
(DAP) and the amino group of d-alanine

(3) the amino group of glycine and the carboxyl
group of d-alanine

(4) the carboxyl group of glycine and the amino
group of Diaminopimelic acid (DAP)

(5) Question not attempted

81. The baseline study in an EIA refers to -

(1) Assessment of alternatives to the project

(2) Collection of data on existing environmental
conditions before the project starts

(3) The legal framework of the EIA

(4) Cost-benefit analysis of the project

(5) Question not attempted

(2) T (A) T (R) I &

(3 (A) 3R (R) THI ¥ & 3R (R), (A) &1
& WEHRT B

(@) (A) ¥ & fog (R) I 7

(5) Srg<IRa g

80. ym—ifecd 9 R A Uftceronsed

wra—foie Fmfafed & 99 & Ters dFs

gRT &7 & — ‘

(1) sfFitEfs s (SIvd) @ TiFT a9
3R SI—YAM BT Braiidde TE

(2) sEfFiftAfes tfis (SUd) &1 Freiead
Y 3R ST P I T8

(3) TSI & Tl g 3R S-TaEE &

FHEIfaTe THE
@) dE &1 PEifedd W@E 3R
srIfAHIATeS TS (SIedl) o1 T w9g
(5) argaiRa ueA

81. FaEy H JHcIs YT § a9y § —
(1) gRaTT & forg faweai &1 da=
(2) aRAISHT g% & F Ugel HiS[ET gt
Rerforat W= Ser vha wRAT
(3) ST BT BTN B
() gRATTT &7 ARTd—am fageryor
(5) =i ue

94 . %
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82. Which of the following species found in India 82 yRq & uig W arell f=ferRad gonfaal # |
has not been included in the Endangered List by fgaT TUCN g1 o ?ffﬁ -‘"‘ff miAA A8l
the IUCN? foar T 27
(1) Red Panda (2) Bengal Tiger (1) =1 gisr (2) €T TR
(3) Asian Elephant (4) Snow Leopard (3) TRrTE sl (4) fgw <igan
(5) Question not attempted (5) argaIRd u=A

83. Neurada procumbens Linn. (Rosaceae), local  83. @ZW@TP?W ferd. (@f@ﬂﬁ) R A o,
name Chapari, a woody tementose, densely qf¥gHl IOTRIE @ ¥ B Elal W AMAR W
woody herb commonly found on sand dunes of Ug WM dlell Uh BIroly SHElN, M1 odhs!
Western Rajasthan, is used for the patient who is qrell \_rl_@f—q:rﬁ 2, foreT SuamT g I B forw
suffering from - - foar ST &, o e @ qifsa & —

(1) Epilepsy (2) Heat stroke durihg (1) T (2 T & 999 F e
the summer season TIH

(3) Piles (4) Baldness (3) g™k (4) TS

(5) Question not attempted - (5) IR ye A

84. Consider the following statements and choose 84 f=foiRed oMl R R @IW v T
the correct option — fapey &1 gu9 Py —

Statement I : “Central-dogma” in molecular ey s ;
biology states that the genetic el SR e
information can flow from IR, ARTAY. — ST — W
RNA — DNA — Protein. @1 fa=m # mgale gae yaifga &
Statement II : In some viruses, the flow of Hhdl & |
genetic information is from : e 3 RIS
DNA to RNA. PR i i
(1) Both statements are correct SITAT. § SRTAT. 7 yered &l & |
(2) Statement I is incorrect and Statement II is (1) < HF w3 ©
correct (2) Ho [ a9 T T 11 97 2
(3) Both statements are incorrect F 3) S PUT ey B
(4) _Statement I is correct -and Statement II is EM (@) o I T T B I Sraeg 2
incorrect
(5) Question not attempted () :ﬂ—-f!ﬁﬂ LAl
85. Indian Scientist Manali Kallat Vainu Bappu is 85 WRdI 91 #1ell docte dv] ary fHwfeg
known for - g &7
(1) Work in X-ray crystallography : e
(2) Contribution to the Representation Theory of 1) x5t P 5l
Lie Groups (2) o gl & UNgf fRgerid 7 AT
(3) Nobel Prize for Medicine and Physiology (3) faftrear ol INRMAS § Aee [RSDR
(4) Establishrrfentv ch several stellar @) TR F B TRET eIl 9 e
observatories in India
(5) Question not attempted (5) #gaRT e
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86 mnn can be used to securely join the
individual networks of different sites into one
extended network.

(1) Overlapping Network

(2) Virtual Public Network

(3) Extended Overlapped Network
(4) Virtual Private Network

(5) Question not attempted

87. Which of the following is not a 3V’s

characteristic of big data given by Doug Laney? -

(1) High veracity (2) High velocity

(3) High variety (4) High volume
(5) Question not attempted

88. What is the Bio-CARe initiative by Government
of India for PhD and Post-Doctoral Scholar
women scientists?
(1) Biochemical Career Advancement &
Re-establishment programme

(2) Biotechnology Career Advancement &
Re-orientation Programme

(3) Biochemical Career Advancement
Re-orientation Programme

(4) Biology

Re-establishment Programme

Career Advancement &

(5) Question not attempted

89. In the context of cloud computing, SOA stands
for -
(1) Service-Object Availability
(2) Service-Oriented Availability
(3) Service-Oriented Architecture
(4) Service-Object Architecture
(5) Question not attempted

86. fafir=1 wIell & AT Acad! BT U fawRa
Feash H GRAT U Sied B A
&1 SYART fhar o1 |ehdr 2 |
(1) aNaRARFT Jeaas |
(2) Tdorat WERE Jead
(3) fawRa sfavers e

@) Fderat fooft Aeas
(5) SraRd we
87. fo=foRad & | ®19 s o g &) W€ faw
ST 31 3V’s fadiwer =&f 27
(1) S= wgar (2) 9= 9
(3) vz fafderar () S=a |
(5) srgaRa we

88. YRT WRPR & IA-BIX Ugel &1 8, ol

iUES! 3R URe—SfaeRel ARl dwel @
ferg &7
(1) Sie—Rrrafe $RIR IFT Td gH:Re

CapE

(2) Sle—dr=ff@l  ®HR|W ST 1@
U S EIHRYT HIIHH

“I% Q) Yo BRI @

GASYEDHRO HTIHH

@) Shafds sReR S=F @ ga=emA
CapED

(5) raRa wed

89. FfISS PYET & HaH H SOA &7 34 & —

(1) Jqar—a%] Ierd
(2) FIT—=[= Iucr=rar
(3) YI-IH@ BT
(4) Tar—a%] anfhcar
(5) srgRa we
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90. In a star topology, if the central hub fails, what 90 ®eR SIS #, A DT &9 Ber & WY, Al
happens to the network? Head TR T THIG ISl &7
(1) Only one node is affected (1) Fae v s a8 &
(2) Nodes automatically reconfigure & :W REEER R I PIRETR & I
(3) The entire network fails aEe e o e
(4) Only two nodes are disconnected (@) B <) T Rwe B
(5) Question not attempted (5) araRd we
91. Rajasthan Centre of Advanced Technology 91- RTGIRIM ¥ex 3 USRS Saairall (R-CAT)
(R-CAT) is managed under which department of BT GG IoRF 9YGR & 59 T @
the Government of Rajasthan? siqefa frar o &2
(1) Department of Higher Education (1S R
(2) Department of Information Technology & :
Cofnmunication 4 3T T
(3) Department of Science and Technology () fa=Ir v et R
(4) Department of Technical Education (4) qep=fiepl R feprer
(5) Question not attempted (5) IrgaRa we
92. Which of the following is a key feature of the 92 Jsfrr R iy 2020 & gER, fA=foRaT 3
Academic Bank of Credits (ABC) as per the q S SEAEEED afee 9%
National Education Policy 2020? (Academic Bank of Credits - ABC) @1 U&% 99
(1) It is applicable only to postgraduategé i i faemar 87 )
R ey %}?,g (1) I8 daa RPN FRFH W AT B
(2) It restricts the transfer of credits to a - _
maximum of 3 years. Rl it L L
- - AT H=ar 2|
() It facilitates credit transfer between (®) % W T T e @ e @ A
institutions after the approval of the source T By Sfe swigwr B fen
and destination institutions. T HaT
(4) It allows only one-time entry and exit for (@) 7z Bt BT 18 I I Y qF DA T
students before age of 18 years. IR J99 3fR BT oY SrgAfer <ar B
(5) Question not attempted (5) argaiRa ye
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93. Which of the following is an advantage of the 93. fo=foiRag ¥ ¥ dT S99 TRARAT afRfET

Batch Processing Operating System? - foree @ @ 22

(1) 99 4 S & Je0 TWd I 99 B

(1) Jobs are processed randomly in a batch ¥

ST ® ;

(2) Allows debugging at execution time (2) frsres T R ST P orERY AT ¥

(3) Facilitates execution of jobs in an organised (3) Gifeq &1 aRed a¥ie ¥ fafed s A
manner HERID B &

e ; . ;

(4) Jobs avoid infinite loops by not using a timer ¢! e e 2 o |

(5) Question not attempted (8) SraRa we

94. PMGDISHA is - 94. PMGDISHA &I & —

(1) India’s digital program for interaction with () vl 9 Nem U g9l @ ARId 9
Prime Minister through ‘“Pariksha pe gedid @ foy WRa &1 e (e
Charcha”, HIHH |

(2) Digital literacy programme run by European (2) TRrarg <el & forg QR | gRT Herferd
Union for Asian Countries. feforea amRar HriHA |

(3) India’s social media platform with a target of (3) YRT BT A9 ST iehH, gD deg
connecting 60 million people in rural areas IrT &3 H 60 fAferas | o guEEE
with Prime Minister. ' 3 Sre T B

(4) World’s largest digital literacy programme (4) faeg &1 |99 g7 fSRiea ArRar ariHT,
with a target of making 60 million people in fSraeT oieg g &= § 60 faferas @
rural areas digitally literate. 3l fSfoiecal wU | ARR a9 2|

(5) Question not attempted (8) IgaiRa weA

95. Which of the following Indian Scientist has  95- fm=foiRag # ¥ &9 R Asfe &) oRfes

received Nobel Prize for Genetic Code? DI B oIy Al REBR fAer 87

(1) S.S. Abhyankar (1) TH.TYE. IgHY

(2) Subrahmanyan Chandrasekhar (2) geerva TR

(3) Har Gobind Khorana (3) &wIfde QT

(4) Asima Chatterjee (4) AT Feoll

(5) Question not attempted (5) 3rgiRa ue

96. Due to the security benefits, ............. has become 96 {ReT Ml & BRI, ... e rgadt @ forg

a standard decentralized execution platform for Th AP ﬁ?ﬁ«—;ﬁqﬁ e |49 99 A 2

smart contracts. (1) HEI

1 i = o .

:2; e e St @ v i

ugmented Reality : 3 B
3) TTeH Eﬁng%T[

(3) Quantum Computing (4) : ol

(4) Internet of Things (IoT) (4) gexie siiw R (loT)

(5) Question not attempted (5) SR e
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97.

98.

99.

100.

What is a perceptron?

(1) Artificial Neuron (2) Cryptocurrency
(3) Qubit (4) Virus

(5) Question not attempted

What is the primary goal of the Green

Technology interventions in the village ‘Aandhi’

in the district of Jaipur?

(1) To improve school education in the village

(2) To promote Nano Technology

(3) To convert various types of wastes into
usable resources

(4) To establish smart automobile industries in
Rajasthan

(5) Question not attempted

Consider the given Statements I and II and select

the correct answer using the code given below -

Statement I: While most Green Energy sources
are also renewable, not all
renewable energy sources are
considered entirely green.

Statement II: Bioenergy is always Green
Energy.

(1) Statement I is correct but Statement II is

incorrect
(2) Statement I is incorrect but Statement II is
correct :

(3) Both Statements I and II are incorrect

(4) Both Statements I and II are correct

(5) Question not attempted

According to the Berne Convention for the

Protection of Literary and Artistic Works, the

duration of protection, according to the general

rule the protection must be granted for an

expiration of how many years after the author’s

97.

98.

100.

RAG FT 87

(1) o\ =*FE (2) freavt
3) wgfde (4) IrRY
(5) IR ueA

SIaqR forel # Rerd ‘arieft’ wifg # sRa drenfires

(Green Technology) B&i&Ul &1 TIHEG Ieey

T 87

(1) 7itq # wepell Rem § gur F=er

(2) 54T SEIETSTT BT Fgrar < ,

(3) o= PR & T & AR HaEET §
ECb

@) YoreRrF § W SifeMEEa Sarl @
RATYAT AT :

(5) SrgaIRa e

- fRT MU FH [ 3R I W fdaR a3k 99

QU Y e &1 IR D T SR BT I

N _

S I: Ferfv sfferesier gRa ol i Fdievoia
A 2 gl o Fdexeig sot gar
P I @E ¥ gRA &AM o 2|

A I1: 519 Sl 9ad gRd Soll Bl & |

(1) ®F 1987 & fhs B 11 Terd &

(2) P 17Ted B oifdhd HU 11 8 &

(3) H IR L ST Tera &

(4) T 13IR M aH! T8 &

(5) 3rgeIRa we

Aifefcad AR HeTdd Bl D GxeT & oy

T HOIE B AFAR, TRAT BT AR, AHY

a9 & STER TP BT gg B 915 fbaw aui

DI AT & oy <Revr ye fhar s =nfRy?

leath ) (1) 507§ (2) 757§
(1) 50 years (2) 75 years
3 (4) 100 99
(3) 25 years (4) 100 years Dty
(5) Question not attempted (5) argaiRa we
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101. Consider the following statements in context to
the Berne Convention and Paris Convention -
(A) The Berne Convention focuses on copyright

protection for literary and artistic works.

(B) Paris Convention does not focus on *

industrial properties such as patents,
trademarks and industrial designs.

(C) The Paris Convention signed in 1883,
whereas the Berne Convention signed in
1886.

Select the correct answer using the code given

below -
- Code -

(1) Only (A) and (C) are correct

(2) All three (A), (B) and (C) are correct

(3) Only (B) and (C) are correct

(4) Only (A) and (B) are correct

(5) Question not attempted

I

102. Column-I gives list of some Indian Satellites and

Column-II gives list of some Launch Vehicles.
Match the entries in Column-I with the entries in
Column-II and select the correct option —

Column-I Column-IT
(a) EOS-03 (1) SSLV-D2
(b) EOS-04 (i1) PSLV-C54
(c) EOS-06 (ii1) GSLV-F10
(d) EOS-07 (iv) PSLV-C52
Code -

(1) (a)-ib), (b)-(1), (c)-(ii), (d)-(iv)
(@) (a)-(iid), (b)-(iv), (c)-(ii), (d)-(i)
@) (a)-(ii), (b)-(iv), (c)-(0), (d)-(iii)
@) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(D)
(5) Question not attempted
103. Which of the following is not related to India’s
C4ISR (Command, Control, Communications,

1059 ovm ik IR Fdvw @& ded §

farforRaa ol R foar &Y —

(A) s F=aeF Oifefad &R Ferrs raf &
fory PIiRIEe Hewr R Sfgd 21

(B) aR¥ @=dv= sienfire |ufy 99 ude,
SSAD IR ARG omsd R dfga T8
=

(C) URY B3 1883 # Bwi&IRa g3l oI,
afd g1 BT 1886 H SRIEINRT GafT o |

A Ry ¢ g FT ST RS T W

¥ —

T —

(1) Pael (A) IR (C) TS &

) ¥ 9 (A), (B) 3R (C) T8 &

E:‘i; (3) Baet (B) 3R (C) 9T &

(4) Bael (A) 3R (B) Wl ©

(5) srgaiRa ued

WY1 § $B ARAY SR B g B el
-1 § {B A B g v | wh-l
o1 gfafted o1 wH-I1 31 gfafedl ¥ gHe

102.

PTG TAT Fal fddhey &1 TI7 BT —
-1 wH—II

(a) EOS-03 (i) SSLV-D2

(b) EOS-04 (i) PSLV-C54

(c) EOS-06 (iii) GSLV-F10

(d) EOS-07 (iv) PSLV-C52

ﬁc\a‘ —

(1) (a)-(iii), (b)-(), (¢)-(i), (d)-(iv)

(@) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

@) (a)-(id), (b)-(iv), (c)-(1), (d)-(iii)

@) (a)-(ii), (b)-(iii), (c)-(iv), (d)-()

(5) JgmiRa ge

fr=fafRaa § ¥ o9 WRA & C4ISR (TS,

103.

Computers, Intelligence, Surveillance and E’I‘Eﬁ) 3 Gefrg T8
Reconnaissance)? 3 .
1 2
(1) TRIGUN (2) IACCS (1) fre (2) M yETE.
(5) Question not attempted (8) srgafRa we
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104. Indian Performing Right Society Limited (IPRS)

105.

106.

107.

is a registered copyright society for -
(1) Cinematograph works

(2) Dramatic works and literary works

associated with dramatic works

(3) Musical works and literary works associated
with musical works

(4) Sound recording works

(5) Question not attempted

Singareni Collieries Company Limited (SCCL)

has commissioned a 20 kW pilot power plant in

Manuguru area of Bhadradri Kothagudem

district in Telangana. This power plant is based

on -

(1) Geothermal Energy (2) Gas-Fired Energy

(3) Nuclear Energy  (4) Hydroelectric

Energy

() Question not attempted

Which of the following are geothermal energy

resources?

(A) Hydrothermal

(B) Geopressured

(C) Hot dry rock resources

(D) Molten rock chamber system

Choose the correct option -

(1) All (A), (B), (C) and (D)

(2) (A), (B) and (C) only

(3) (A), (B) and (D) only

(4) (A), (C) and (D) only

() Question not attempted

Which of the following is true about INS Nilgiri

which was dedicated to the nation in

January 2025?

(1) It is the sixth and final submarine of P-75
Scorpene Project.

(2) 1t is the fourth and final ship of the P-15B
Guided Missile Destroyer Project.

(3) It is the third nuclear submarine of India.

(4) Itis the first ship of the P-17A Stealth Frigate
Project.

(8) Question not attempted

104,

105.

106.

107.

T Wit vz dard) fafics

EEaaRTy) fFrafaied & fow te dofiiga

PIURISS AEREIST & —

(1) R=ierms &

(2) edE B R AeH FET W 9
wifefcas &g

@) g $rd ik wifia sl & S Afefas
BRI

@) @y ReifdT ol

(5) IgeRa T

T Bifedet wo fifies (SCCL) =

AT & HSTs! BIONLSH el & AFTS &5 ¥

20 fhelidre T URIele UrR Wiie are] fbar 2 |

g UTeR e 7174 W emenfia & — ~

(1) yardg ot @ ¥ P /T H T
el Sott

Q) TS St (@) Safem ot

(5) srgaRd T

frferfad % & ST yarda (Rraverte) st
A 87

(A) BISSIIHA

(B) 3—<Td™

(C) e S Jdb FarE

(D) Aiced 3o T Reed

8! AP &1 =39 difsie —

(1) w1 (A), (B), (C) 3R (D)

(2 R (A), (B) 3R (C)

(3) % (A), (B) 3R (D)

(4) &% (A), (C) 3R (D)

(5) iR we

AMSTATH Al oY Sad) 2025 & 1 &1
Hia far man, & IR § fEfoea § ¥ @
T 87

(1) a8 @75 wBid= uRAeET @ udr ik

3ifer TgEdt B |
(2 38 q—15§1 Tzee fAuma fOwws
RATSTHT &7 e 3R Hfaq Sert & |

(3) T' YRT B T AR TG 2 |
(4) g U1~177 oot e gRANSHT &1 ygall
BT B

(5) Fr<iRea wed
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108. Consider the following statements and select the
correct answer using the code given below -
Assertion (A): The members of the TRIPS
Agreement are ‘obligated to
comply with the standards set by
the Paris and Berne
Conventions.
Reason (R): The TRIPS Agreement
incorporates the substantive
provisions of the Paris and Berne
Conventions.
Code -
(1) Both (A) and (R) are incorrect
(2) Both (A) and (R) are correct but (R) is not
the correct explanation of (A)

(3) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

(4) (A) is correct but (R) is incorrect

(5) ‘Question not attempted

109. The TRIPS Agreement is Annexure ‘1C’ of

which of the following?

(1) Paris Agreement (2) WTO Agreement

(3) Basel Convention (4) Vienna Convention
(5) Question not attempted

110. According to the Patents Rules 2003, Chapter [V
Publication and Examination of Application,
Rule 24B -Examination of Application, (ii) The
period within which the request for examination
under Sub-section (3) of Section 11B to be made

shall be how many months from the date of

108. fa=forRad wemi R R @iy &k 9 fi

T HE P SWN RSP Fel SR B 944

aﬁﬁ-q_

AfweE (A): o wEia & W IRE SR
¥ geeEl g’ RuiRa Jei
BT U XA B forg g 2|

&R (R): o=y wweia & R 3k o+ aeHl

& HeT YTaH wfe € |

oz —

(1) (A) 3R (R) SHI ToId &

(2) (A)3fR (R)SHI |El g Afd (R), (A) DT Gl

RAT E &

WAy, (A) 3R (R) ST T & &R (R), (A) B D

@& §
@) (A)EE T e (R) T &
(5) srg<iRa e
109. foogy rgiian fofoRad & & fbwer IFjed®
19 7
(1) R¥ |weian (2) sy vl wwsian
@) o FEE @) e wee
(5) Irg<IRa wed

110. 9ce 999 2003 & AT IV USRI 3R AdeA
zﬁraﬁ,ﬁwza@r—mﬁaﬁaﬂa (i) T8
rafyy forasd iR gRT 1161 & IUWRT (3) B
Jeq o & fog oRM far omm @, Al
AR B, O TIfed @ aNRg ¥ a1 A9ed

priority if applicable or from the date of filing of TR H3 @ dRE ¥ fhas 789 8rfi?
the application? :
R (1) =i wE () FaTeie W
(1) Sixty four months (2) Forty two months
3) B HBH 4) arearei TN
(3) Thirty six months (4) Forty eight months ® 5
(5) Question not attempted (8) srgaia e
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111. Select the incorrect pair of - ‘Symbol’ and ‘What

it denotes’ -
(1) ® — Phonogram copyright
(2) © - Copyright
(3) (™) - Registered Trademark
(4) (M) — Servicemark
(5) Question not attempted

112. The Paris Convention for the Protection of
Industrial Property lays down a few common
rules that all contracting states must follow.
Which of the following is NOT covered under
this?
(1) Industrial design
(3) Trademark

(2) Bio-piracy
(4) Patents
(5) Question not attempted
113. Which one of the following is not a feature of
geostationary satellite?
(1) Altitude - 36000 km
(2) Coverage area - 1/3 of the globe
(3) Uses - Telecommunication
(4) Orbital period - 14 orbits per day
(5) Question not attempted
114. What does the term ‘SPOT refer to?
(1) Type of asensor (2) Name of a satellite
(3) GIS software (4) Launching station
of USA
(5) Question not attempted

115. The first GPS satellite was launched in which

M. gfie’ 3R ‘a8 7 o & & Tad I B
T HIY —
(1) ®— BHI™ PIREE
(@ © - 3iiREe
@) (™) — Golpd e
(4) (SM) — gfdamre
(5) srqaRa ue

12 genfres Hufr & wveor & fog oY w=dem
4 g amg frem fuiRa g 71 8 R
wft ogEfd ISal B UreE HRer @Ry |
fr=feRaa # & siar s9o 3favfa wmife =8
87
(1) senfre feomes  (2) Ir—urse
(3) v (4) uce
(5) sraiRd W

13. fp=forRed § & P14 ¥ ReR SuIE &l
EER{
(1) F=E — 36000 fas.4.
(2) anfiq &= — 7 &7 1/3 91T

(3) UG — AR

(4) Fefg 3@l — &% a5 14 Feg ggax

(5) ergaRa wed |

114. SPOT” g fdy wefdd Hvar &7

(1) Jagd &1 ypR  (2) IUYUB FT 99

(3) oitemE.uw. (4) JTH.Y. BT v
GILGCEDN G i

(5) SrgaiRa ue

115. yory S g, SuUg &1 vemr fhe a9 # fasan

year? AT AT?
(1) 1979 (2) 1977 (1) 1979 (2 1977
(3) 1976 (4) 1978 (3 1976 (4) 1978
(5) Question not attempted (5) rgalRa weA
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116.

- 117.

118.

NDVI technique is-used to assess the -

(1) Crop yields - (2) Water bodies

(3) Traffic flow (4) Population density

(5) Question not attempted

Which one of the following (Earth Surface
Feature — Standard False Colour Composite) is
not correctly matched?

(1) Clear water — Light blue

(2) Ravines — Green

(3) Cropped land — Bright red

(4) Rock outcrops — Light brown

(5) Question not attempted

Match List-I with List-II and select the correct

answer from the code given below -

List-I List-TI T, b
(Satellite (Spatial Resolution’ A A
Sensor) in Meters (m))

(A) LISS-3 (1) 0.6m
(B) LISS-4 (ii) 0.4m
(C) QuickBird PAN  (iii) 23.5m
(D) GeoEye-1 PAN  (iv) 5.8m
Code -

(1 (A)-(iii), (B)-(1), (O)-(iv), (D)-(ii)
@) (A)-(ii), (B)-(iii), (C)-(iv), (D)-()
@) (A)-(iii), (B)-(iv), (C)-(1), (D)-(ii)
@) (A)-(1), (B)-(iD), (C)-(iii), (D)-(iv)
(5) Question not attempted

116.

117.

118.

TSI 3ME. dPh-e BT JANT fhas nde H
T ST 27 '
(1) B ITTEA
(3) IraETT Harg
(5) rgiRa ued
frfaRed § @ 9 (US @0 — 6D
fRear <1 fafdm) gafera w81 &7

(1) @B Sl — gepl el

(2) drzs — B

(3) IR A — HHSYE WAl

(4) 3 T — EoobT T

(2) Sieila |l
(4) ST 99

(5) 3rg<IRT g

-1 B gA-11 & gafera g iRk =

for 77 Be F ¥ 9 IR @ TIT R —
-1 -1
(SUUE Hds®) (enfa® fawes

Hrex (@) #)

(A) LISS-3 (i) 0.6 4.

(B) LISS-4 (ii) 0.4 ¥,

(C) fd@es PAN (iii) 23.5 .

(D) fSraRmE—1 PAN  (iv) 5.8 .

Te —

(M (A)-(ii), (B)-(1), (C)-(iv), (D)-(1i)
() (A)-(ib), (B)-(iid), (C)-(iv), (D)-(1)
(3) (A)-(iid), (B)-(v), (C)-(1), (D)-(ii)
@) (A)-(1), (B)-(ii), (C)-(iii), (D)-(iv)
(5) SrIRd we

119. Which of the following elements of visual 119-f7 ¥ & ST g9g fAvelyol &1 v SUTE
interpretation is decisive in identifying a tree e ¥ geRIuv BT UEEr Bg v 27
plantation in a satellite image? 1) are @ R
(1) Size (2) Pattern i A
(3) Association (4) Shadow
(5) Question not attempted (8) srgefe v
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120.

121.

122.

123.

Which type of signals are transmitted by GPS

satellites? ‘

(1) Near infrared (2) Thermal infrared

(3) Radio (4) Gamma

(5) Question not attempted

Which of the following statement/s is/are

advantage/s of Raster Model?

(A) Efficient representation of high spatial
variability

(C) Efficient for network analysis

(D) Accuracy of shape in map output

Choose the correct answer -

(1) (A) and (C) (2) (A)and (B)

(3) Only (B) (4) (B), (C) and (D)

(5) Question not attempted

Which statement is correct with reference to

sun-synchronous satellites?

(1) They are placed in near polar orbit.

(2) The coverage area is approximately 1/3 of
the globe.

(3) The orbital period is 24 hours.

(4) The altitude ranges between 20,000 km to

36,000 km.
(5) Question not attempted

Match List-I with List-II and select the correct
answer using code given below -

List-1

(Satellite)
(a) IRS-P6 (ResourceSat-1)
(b) INSAT-3D
(c) OceanSat-3
(d) NavIC

List-IT

(Application)
(1) Disaster management
(ii) Ocean state forecasting
(i11) Time and location based service
(iv) Weather forecasting
Code -
() (a)-Gv), (b)-(i), (c)-(iii), (d)-(ii)
@) (a)-(i), (b)-(iv), (c)-(id), (d)-(iii)
() (a)-(iv), (b)-(iii), (c)-(ii), (d)-()
@) (a)-(), (b)-(ii), (c)-(iv), (d)-(iii)
(5) Question not attempted

BT

(B) Compatible with remote sensing imagery 4ok :

120.

121.

122,

123.

ST, SUUEl 3 ERT fd veR & Ryed
waRa fby o 87

(1) fA®e avad (2) arfr raxa
(3) A (4) TmEn
(5) srgaRa ue

forfaRad § & o9 /W $9F WX disd &

T B/E?

(A) 3= wIifve gRad=Rierar &1 e Fwgo

(B) g5 wde ufafewi & @mer wa

(C) uRur WTer faveiyor & forw e

(D) AFE 3TSCYe H 3P B F&ar

WEl SR BT TI9 BT —

(1) (A) 3R (C) (2) (A)3R (B)

(3) ®aa (B) (4) (B), (C) 3R (D)

(5) argaiRa wed

W—-Jadiferd SUTE & T H DA HUH

wEr 87

(1) I FAFpe—ygdm e § Reg &Y o £

(2) efeT &= Telld BT T 1/3 W 2 |

(3) wefy arafer 24 gve 2|

@ SH=g & A 20,000
36,000 fHHAL. & #eq B |

(5) srgalRa u=A
gh-1 & -1 ¥ gafera T qen wd
IR BT 999 A A e ¥ Piforg —
a1
(STurE)
(a) JMS.IMR.TH—P6 (RERTHe—1)
(b) 383D
(c) AT —3
(d) 7Tl
11
(ergern)
(i) 39T ygRA
(i) TR Rfy &1 gatga=
(iii) T9T U4 I TR |ar
(iv) Hr\ gaigae
a{d’ —
(M (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
(2) (a)-(), (b)-(iv), (¢)-(ii), (d)-(iii)
B) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(@) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)
(5) gk weA

fed 9
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124. Which of the following will be the scale of a
small scale aerial photograph?
(1) 1:5000 (2) 1:60000
(3) 1:30000 (4) 1:15000
(5) Question not attempted

125. How many minimum number of satellites should

be available for making observations using GPS?
(1) Six (2) Two
(3) Twenty four (4) Four
(5) Question not attempted

126.
EOS-08 satellite are -
(A) Inland water bodies detection
(B) Flood detection
(C) Urban land use mapping
(D) Soil moisture assessment
Select the correct answer from the code given
below -
(1) B),(C)and (D) (2) (A),(C)and (D)
(3) (A),(B)and (D) (4) (A), (B)and (C)
(5) Question not attempted

127. Silk producing stage of silkworm is -
(1) Pupa (2) Larva
(3) Adult (4) Egg

(5) Question not attempted
128. Which plant is used as indicator plant to assess
the zinc deficiency out of the following plants?
(1) Oats (2) Flax
(3) Sugar beet (4) Sunflower
(5) Question not attempted
129. The situation of market in which supply is

exactly equal to demand is termed as -

The uses of the payload (GNSS-R) carried by

124,

125,

127.

128,

129.

% Y AU a1g BIeias &l 7+l Aeferiad
¥ 9§ P Brf?

(1) 1:5000 (2) 1:60000

(3) 1:30000 (4) 1:15000

(5) SrgiRa e

NATE. B TR BRd 9T gaad feaq
SUUE Y&l & fory Suerel g w1y’

(1) @ 2 =1

(3) I (4) Ix

(5) Srg<iRa ue

- SATE—08 STE g o oY TV YA

(G TI.0A.TH.—3IR.) & SUINT & —

(A) IM<IR® TS BT UdT ST

(B) 91¢ BT T ST

(C) T ¥ IUIRT AT

(D) g &1 9 &7 aNda

& U g | & IR BT AT BING —
(1 B). (C)3R®D) (2 (A),(C) 3R (D)
®3) (A),(B)3IRMD) @ (A),(B)3IR (C)

(5) Srg<iRe W

TH B BT B T SATCH AGRT § —
(1) o (2) et

(3) gT%n (4) 3rosT

(5) srgaiRa ueH

frifea dief & & Brrar dier S awd B
AT B U@ B B o dadas UM
(Indicator plant) & w4 # Ygth Il 87

() g (2) & /ugan
() gh<x (@) e
(5) SrgeiRa w2

IR @ 98 sraven ford amyfef  #i gemefa:
R B, S FEd & —

(1) Stable (2) Equilibrium (1) Rer (2) Fge
(3) Unstable () Volatile 3) afer @) fpics
(5) Question not attempted ‘ (5) argiRa ye
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130. Which growth regulator is practically used to  130-fr=ifrq % ¥ yIfie w9 ¥ @@ gfg

regulate the flowering in pineapple and guava T wgATEe vd oee & g &7 e
from the following? (Regulate) B B U fhar Sram 27
(1) IBA (2 NAA (1) gy (2 wug
() 24-D @) 1AA ®3) 2,4-31 4) srEuy
() Question not attempted . - (5) srgaRa ged :
131. The headquarter of National Centre of Organic  131-3flg  Wfde ok wphe o @3
and Natural Farming (NCONF) is at - (TT3N.UA.U%.) T Jeeare Rerd & —
(1) IARI (New Delhi) (1) ME.uaRans. (¥ fieen) ®
(2) Faridabad (Haryana) (2) wigrETe (BRamn) #§
(3) New Delhi ‘ () 78 faeel &
(4) Ghaziabad (Uttar Pradesh) @) TS ([TR w9
(5) Question not attempted (5) SR ue
132. What is the scientific name of the goat? 132. g3l F1 IS A9 R 87
(1) Capra hircus (2) Ovis aries (1) 27 fevee @ 33w ger
(3) Equus caballus  (8) Bos taurus 3) 5797 HIoreT @) g7 vy
(5) Question not attempted (5) s ueA
133. Which of the following bee species is most 133.-f=y & | A yoNf@ AYFRS U
suitable for apiculture? (#rare) @ forg waiftre @W 4
(1) Apis cerana (2) Apis dorsata () vfgw Germr (2) vfew srearer
(3) Apis florea (4) Apis mellifera (3) vfow venifear (4) vfow dfcrevr
(5) Question not attempted (5) SrgaRa e
134. Fertigation in drip irrigation system is performed ~ 134. fgu—R¥=re yomelt ¥ welRivq s gy fban
through - ST 87
(1) Hydrocyclone (1) TEsMETN
(2) Venturi ' @) g=4r
(3) Applying soluble fertilizers near each (3) P BRSMIG & AT HoATee Savadi
hydrogdl BT TART
(4) All of the above o (4) SRIFT |4t
| T
(5) Question not attempted jt“-‘j (5) argaRa W
135. Which of the following is classified as a 135.-ffm % & B9 Y & gfg & Iy smawws
secondary nutrient essential for plant growth? fe<ie dve o & w9 # aiftea 87
(1) Potassium (2) Nitrogen (1) gref¥ray (2) -rzeo™
(3) Manganese (4) Magnesium (3) Hrirer (4 Fhrm
(5) Question not attempted (5) rgaRd we
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136.

137.

138.

139.

140.

What does soil fertility measure?
(1) Nutrient supply capacity

(2) Water holding capacity

(3) Chemical composition

(4) pH level

(5) Question not attempted

Which is used as soil amendment in sodic soils?

(1) Ammonium (2) Gypsum
Sulphate
(3) Urea (4) D.AP.

(5) Question not attempted

In which genus/pathogen spores the transverse
and longitudinal septa are found among the
following?

(1) Alternaria solani

(2) Albugo candida

(3) Fusarium dxysporum

(4) Puccinia tritici

(5) Question not attempted

If deficiency symptoms first appear on the upper,
younger leaves of a plant, they are most likely
due to the deficiency of -

(1) Immobile nutrients (2) Pest damage

(3) Mobile nutrients  (4) Excess of water

(5) Question not attempted

The most distinguishing symptom of Green Ear
disease in pearl millet is -

(1) Leaf whorl (2) Leaf cuﬂing

136.

137.

138.

139.

140.

AT IRaT fHHHT A9 HA 87

(1) rves g SR B el

(2) STTEROT &HT

(3) IS |XEn

(4) pH wX

(5) SrgmiRe ueA

AR 9T H GURS & ©U H fhy SuanT fHan
ST 27

(1) w99 |Hedbe
(3) g

(5) argiRa wed
frifed & 9 f&w 99 /ImeRe & G 4§
SIYRY TG Agacd U U O 27

() sreevavar dicr

@) g BiesT

() F=ERTT FFHeGT

@) gl ZidE

(5) iR wed

IR & 9 @& SN, BIS gkl # FEw
Ul BHI & @Yl feEd €, ar I8 fhaa o
¥ BM B G IS FAETT 57

(1) /e ws g (2) die afd

(3) wfrefier diwe aw@ (4) erfaRad o

(5) SrgaiRa U=

goR # W SR I T G fARne Feqor
3 _

(2) foroms
(4) o

(1) 9rell &7 =preR () Uil BT o
transformation of e
(3) Stem bending (4) Black grain spots E‘E (3) T gH (4) FTel T & g
(5) Question not attempted (8) srgaie we
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141.

142,

143.

144.

145.

When would it make sense for a farmer to store

their produce and sell it later during the lean

season?

(1) When the produce loses value overtime

(2) When no one wants to buy during the lean
season

(3) When the prices during the lean period is
higher than the storage cost and current price

(4) When storage is expensive and prices stay
the same

(3) Question not attempted

400-500 gm /ha seed rate is used for which crop?
(1) Radish (2) Pea
(3) Tinda (4) Tomato

(5) Question not attempted

Pradhan Mantri Fasal Bima Yojana started in
which year?

(1) 2016 (2) 2022

(3 2015 (4) 2025

(5) Question not attempted

International Federation of Organic Agriculture
Movement (IFOAM), a leading institute in the
field of organic agriculture, was established in

which year?
(1) 1995 (2) 2008
(3) 1940 (4) 1972

(5) Question not attempted

The breed evolved by crossing of murrah and
surti breed of buffalo is -

(1) Jafarabadi (2) Mehsana

(3) Nili Ravi (4) Nagpuri

(5) Question not aﬁempted

141.

paga
o

=Sl

142.

143.

foam @& forg o) Suw &1 WR & @ik

g€ ¥ o9 HoM & INE SS9 S99 a4

FHAIRT BRAT?

(1) 519 G9F & AT YA BT Ho¥ HH & WY

() 59 Bz W FF Ao B ERE @ T8
rEar &

(3) <19 o Efy @ SRE PG, HSRT ARG
IR THE PG ¥ s B

(4) ST9 HSRUT 7 & 3fR P T8 B

(5) srgaiRa we .

400-500 9 /2. 9191 & B BEd H BH

3Tl 87 '

(1) i 2 Hex
(3) fever (4) AR
(5) SR we

VETHAT Beiel M1 AT SIY a8 J I P
TE?

- (1) 2016 (2) 2022
(3) 2015 @) 2025
(5) SR we

144.

145.

STIYFE BeIM TP e uifiden
qai< (IFOAM) Sifas & & &5 ¥ & amroft
YA 2, SHPT WU e a¥ g5 ofr?

(1) 1995 (2) 2008
(3) 1940 @) 1972
(5) SR wed

R T4 G T B AF D HBROT § S
TR 8 —

(1) STHRETET (2) Hg|mHT
(3) el < (@) ArTgd
(5) srgailRa g

146. Which of the following crops is commonly 146. Fe—dfe YHEIe @ W= & forv fy=foRay 3
grown as an intercrop for the management of A DT HE AFAR WX FWREAA D ©F §
root-knot nematodes? T T 87
(1) Mustard (2) Marigold (1) w==t (2) =T
(3) Sunflower (4) Maize (3) wRorgE! (4) wapT
(5) Question not attempted (5) argaRa we
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147.

148.

149.

150.

Which condition 1S most

favourable for the development of late blight

environmental

disease in potatoes?

(1) Cool and dry weather

(2) Hot and dry weather

(3) Cool and moist weather

(4) Warm and humid weather

(5) Question not attempted

What is the minimum percentage of Total
Soluble Solids (TSS) required in jelly as per food
standards? =
(1) 65% (2) 45% :
(3) 75% (4) 55%

(5) Question not attempted

A s

The price at which government makes purchase
of agricultural comodities, is called as -

(1) Market price (2) Procurement price
(3) Support price (4) Consumer price

(5) Question not attempted

Catface is a physiological disorder commonly
found in which crop? -

(1) Cabbage (2) Tomato

(3) Brinjal (4) Potato

(5) Question not attempted

147.

148.

149.

150.

el § uBd gUR I & e & fou Sie
afaRei oRReIfd we9 agamd 87

(1) 331 IR = AH

(2) T IR T AreH

(3) =1 iR 9 ArH

(4) T 3fR orrs Hew

(5) SrgiRa g

GTel AFGI & IER Olell 3 el geeiel or
(TSS) &7 =FAad yfarerd faaem g anfeg?

(1) 65 wfrera (2) 45 yferera

(3) 75 ufdrera (@) 55 gfeea

(5) Srg<IRa ye

R o0 W AR PR o @ @de wxd

g, Bl & —

(1) IR & (2) ¥ 1

(3) FHIF g (4) ITRHT &

(5) SrgiRa ue

Hehd UH TRING PR & Sl JHaR W) fbd
HEe H IR S 8?

(1) TmTrY (2) xR

(3) Fr @) s

(5) SrxiRa we

--------------
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